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CS-08
June - Examination 2017
BA/BSC Pt.lll Examination
Programming in Java
Paper - CS-08
Time : 3 Hours ] [ Max. Marks :- 70

Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.
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Section - A 7X2=14
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 2 marks.
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1) (i) Whatis Byte Code?
Byte Code T & ?
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(i) What are the access specifiers available in Java?

ST § i I Ve TURTARRT Iuctey g1 &7
(i) What is JVM?

JVM &1 8 ?
(iv) What is AWT?
AWT &RIT §?
(v) What is JDK?
JDK &7 82
(vi) What are instance variables?
g~ ANTaeT a7 §?
(vii) Define Class and objects.
Class 3R objects @I GRYTYT & |
Section - B 4 X7=28

(Short Answer Questions)
Note: Answer any four questions. Each answer should not
exceed 200 words. Each question carries 7 marks.

(Tvs - 9)
(oTg ST Ue)
fAder: gl TR Ul & IR VI 3T 3o ITR Bl frepay
200 vregi B gRAfAT HIfTT| U UT 7 37 a1 2l

2) State four difference between OOP and POP.
OOP 3R POP & did IR 3icR IaTgd|

3) Explain the available data types in Java.
ST & IUTeY ST TI8d & YebR AHSU|
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4) Explain the terms variable, constant, literal use in java.

ST & IRuget, divee 3R fofeve & SUAT Id1sy|
5) Explain any four AWT controls.

P13 ff IR AWT Fgle i

6) Write the difference between Java Applets and java

applications.

STET Teeles 3R TCeAihe & i 3R garsd|

7) What is exception handling? What are the various types of
exception?
TR gefer a7 82 fIfte TR & YaRite™ aHeisy|

8) Explain the operators in Java.
ST | STTiRed A9yl

9) Explain the difference between do-while statement and while
statement. With suitable example.

Do-while ¥¢eHT 3R while ¥eHe & 19 3R Ja=d| ST
ISIENT & FTY|

Section-C 2X14=28
(Long Answer Questions)

Note: Answer any two questions. You have to delimit your each
answer maximum up to 500 words. Each question carries
14 marks.

(Tvs - W)
(Sef IR o)
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10) What is method overloading? Discuss with the help of a
suitable example.

DS 3MeRANST a7 g ? ST SIexvl &l FgIadl | Tat P |
11) What are JAVA packages? Explain the different type of

packages in JAVA.
STTaT torot /T 2 SiraT H AR YR & Uohel Bl e

12) Explain the features of Java in details.

STraT & faRrvarett @l faeaRyded sargy|

13) What is inheritance? Explain all type of inheritances in Java.

STNIe—T T ¢ ? a1 ¥ ) YR & gaeNied Bl JHSEU|
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